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#define NTCO -1
#define NTC1 262
#define NTC2 294
#define NTC3 330
#define NTC4 350
#define NTC5 393
#define NTCsS 416
#define NTC6 441
#define NTC7 495

#define NTCL1 131
#define NTCL2 147
#define NTCL3 165
#define NTCL4 175
#define NTCL5 196
#define NTCL6 221
#define NTCL7 248



#define NTCHI1 525

#define NTCH2 589

#define NTCH3 661

#define NTCH4 700

#define NTCHS5 786

#define NTCH6 882

#define NTCH7 990

HFNH A C AR

int tune[]= AR TS A1 H & A

{
NTCO,NTCL6,NTCL6,NTCI1,
NTC2,NTC3,NTC4,NTC3,NTC2,
NTC3,NTCO,NTC1,NTC3,NTCS5,
NTCS5,NTC1,NTC6,NTCS5,NTC4,
NTC3,NTCO,NTCL6,NTCL6,NTC1,
NTC2,NTC3,NTC4,NTC3,NTCL7,
NTC2,NTC1,NTC1,NTCO,NTCI,NTC3,NTCS,
NTCS5NTC1,NTC6,NTC5,NTC3,NTC2,NTC1,
NTCILNTCONTC1,NTCS5,NTC7,
NTCH1,NTC7,NTC7,NTC5,NTC3,NTC3,NTCS,
NTC6,NTC5,NTC5,NTC1,NTCS,
NTC3,NTCs5,NTCH2,NTC7,NTCHI,NTCH1,NTCH2,
NTCH3,NTCH2,NTC7,NTCO,
NTC6,NTC5,NTC5,NTC1,NTC5,NTCO,NTC1,
NTC4,NTC5,NTC6,NTCI,NTCI,NTCL7,
NTCl1,

¥

float durt[]= (/AR AT B 1) S & 0

{

2.5,0.5,0.5,0.5,

1,1,0.75,0.75,0.5,

2,0.5,0.5,0.5,0.5,

1,1,0.75,0.75,0.5,

2,0.5,0.5,0.5,0.5,

1,1,0.75,0.75,0.5,

0.5,0.5,1,0.5,0.5,0.5,0.5,

0.5,0.5,0.5,1,0.5,0.75,0.25,

2,0.5,0.5,0.5,0.5,

0.5,0.5,0.5,0.5,1,0.5,0.5,

0.5,0.5,0.5,0.5,2,

0.5,0.5,0.5,0.5,1,0.5,0.5,

2121,

0.5,0.5,0.5,0.5,1,0.5,0.5,

0.5,0.5,0.5,0.5,1,1,2,



b
int length;
int tonepin=5; /4 5 SO
void setup()
{
pinMode(tonepin, OUTPUT);
length=sizeof(tune)/sizeof(tune[0]); /T HAKSE
}
void loop()
{
for(int x=0;x<length;x++)
{
tone(tonepin,tune[x]);
delay(1000%0.83*durt[x]);  //iX HLAHRARAE T HIHTIERS, 500 IXAMEEAT DL E R E.
noTone(tonepin);
}
delay(2000);

B & 4% &R

#include <Arduino.h>

#define PWM_pin 7
#define Pot A0
#define Buzzer 5

int PotBuffer = 0;
int pulsewidth = 0; /775 L SPH []

int degree=0;

void setup ()

{
pinMode(PWM_pin,OUTPUT);
Serial.begin(9600); // % BB I 4FH A 9600
while(Serial.read()>= 0){}//clear serialbuffer
pinMode(Buzzer, OUTPUT); /&N 2% 5] I & Ak He

void loop()
{
if(Serial.available()>0){
delay(100);
degree=Serial.parselnt(); //read delaying time typed in Serial Montor



}
while(Serial.read()>= 0){}

Serial.print(degree);

pulse(degree); (BB REHLIE ) 90 J&

PotBuffer = 4*analogRead(Pot); //EEEL AD {H

Serial.print(PotBuffer);

for(inti =0 ; i <2000 ; i++) /AR 100 Ik

{
digital Write(Buzzer, HIGH); 115 B B v
delayMicroseconds(PotBuffer); //#ER PotBuffer {H us
digital Write(Buzzer, LOW); 11 B G P
delayMicroseconds(100); //3EF 100us

H

Serial.print("ring over");

delay(200);

}

void pulse(int angle) /1% EREALF BN angle

{
for(inti=0;1<100 ; i++)
{

pulsewidth=int ((angle*11)+500); /115 = B P B[]

digitalWrite(PWM_pin,HIGH); 11 B P
delayMicroseconds(pulsewidth); //FERT pulsewidth  (us)
digitalWrite(PWM_pin, LOW); & BAK
delay(20-pulsewidth/1000); //ZERT 20-pulsewidth/1000  (ms)
}



